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Literary Criticism

1. PÎFÛÎFPáFP&F¶FFÎFFk =W+ðFFP¦˜F¶Fh ÑF¦˜FFÎFFk ÒèÎFFÎFFÛFh H¸FÞk õFkõ=_+¶FÚFFðFFÜFFk ¼WæFÎFF;FÞPáFÑÜFFk ˜F ¼WÜFÛFh—
2×5=10

(=+) =+FæÜFÒ=+FèF=+FÞO =+O? =+FæÜFÒ=+FèFW =+P¶F HááFFõFFO õFPÎ¶F?

(&F) P=k+ æFõ¶F] PÎFÜFP¶F=_+¶FPÎFÜFÛFÞPù¶FÛFh? =+»Fk ¶FPÎÎFÜFP¶F=_+¶FPÎFÜFÛFÞPù¶FÛFh?

(;F) iÎFæFÞõFßP˜FÞFk PÎFPÛFaP¶FÛFh ...j — =+FæÜFõÜF ÎFæFÞõFO =+O?

—

Full Marks : 60

Time : 3 Hours



(fF) =+FæÜFÒ=+FèF;FeÎ»FõÜF ÛF”~áFF˜FÞµFF¶ÛF=+O èáFX=+O =+O? =+FæÜFÒ=+FèFõÜF Ò»FÛFXááFFõFõÜF ÎFFÛF
P=+ÛFh?

(‘~) P=+ÜF¶Fh =+FæÜFÛFPõ¶F? =+FPÎF ˜F ¶FFPÎF?

(˜F) H¸FÛF=+FæÜFõÜF õFk£FF ¼UÜF¶FFÛFh—

(š) ÛFÛÛF©FÎF]õFFÞk P˜F·F=+FæÜFõÜF õæFàÑFk P=+ÛFh?

(¡F) iEÎFáFk=_+¶FU ÑF]ÎFO ƒæFFPÑFj — G¶ÜFÎFWÎF P=k+ ÙFXÍÜF¶FW?

—

2. PÎFÛÎFPáFP&F¶FFÎFFk =W+ðFFP¦˜F¶Fh ˜F¶F]µFFb ÒèÎFFÎFFÛFh H¸FÞk Ò¼WÜFÛFh— 5×4=20

(=+) i=+FæÜFk =W+æFáFk @áFF¼Y=+ÛFPÜF =+»Fk ÚFæFP¶F?

(&F) ièFPƒ¶FO =+PæF¶æFÙFU¡FàÑFõFkõ=+FÞPæFèFWðFOj — EFáFX˜ÜF¶FFÛFh—

—

(;F) iÜFO =+FYÛFFÞùÞ...j — GP¶F =+FæÜFW =+FæÜF¶æFÛFh EPõ¶F ÎF æFF? ÜFP¼ õÜFF¶Fh ¶FPùa =+»Fk ¶FõÜF
=+FæÜFõÜF =+FæÜF¶æFÛFPõ¶F? — EFáFX˜ÜF¶FFÛFh—

(fF) õ×+X©O =+O? õFk‡FWÑFWµF PáF&ÜF¶FFÛFh—

(‘~) iiGP¶F ùW¶F]õ¶F¼]ÆæFWjj — æÜFF&ÜFFÜF¶FFÛFh—

—

(˜F) ÛFÛÛF©õÜF ÛF¶FFÎF]õFFÞk =+FæÜFk =+U¼_èFÛF]ÑF¼WèFk ¼¼FP¶F? — EáFX˜ÜF¶FFÛFh—



3. =W+ðFFP¦˜F¶Fh ·FÜFFµFF k ÒèÎFFÎFFÛFh H¸FÞk ¼WÜFÛFh— 10×3=30

(=+) =+FæÜFõÜF ÒÜFX¡FÎFFPÎF =+FPÎF EFáFX˜ÜFÎ¶FFÛFh—

(&F) õFX¼FùÞµFk =+õÜFP˜F¼W=+õÜF =+FæÜFõÜF õFk£FFk Ò¼FÜF PæFPèáFðÜF¶FFÛFh—

(;F) =+FæÜFõÜF õæFàÑFÛFFáFX˜ÜF¶FFÛFh—

(fF) =+ÜFXPè˜FÂÜFXO ©U=+F áFW&ÜFF—

èFPƒ¶FO, ÍæFPÎF=+FæÜFÛFh, æÜF]¶ÑFP¸FO, EÚÜFFõFO

(‘~) =+FæÜFõÜF =+FÞµFFPÎF EFáFX˜ÜFÎ¶FFÛFh—



Or,

Nationalism in Sanskrit Literature

E. PÎFÛÎFPáFP&F¶FWðF] ÒèÎF·FÜFõÜF H¸FÞk Ò¼WÜFÛFh— 10×3=30

1. ÞFñdèFÙ¼õÜF æÜF]¶ÑFP¸Fk Ò¼èÜFa ÞFñdõÜF õæFàÑFÛFFáFX˜ÜF¶FFÛFh—

2. ÚFFÞ¶FæFðFaõÜF õæFF¶FÎ·ÜFõFk;FeFÛFW ÚFFÞ¶FõÜF õFFÛFFP¡F=+-ÍFÛFUaÜF-¡FF¶FUÜF¶FFæFFP¼ÎFFk ÚF[PÛF=+F =_+¼_èFX
EFõFU¶Fh? — æFµÜFa¶FFÛFh—

—

3. i;FFÎÍFU;FU¶FFÎF]õFFÞk õF¶ÜFF;FeùõÜF õæFàÑFk áFW&FÎFUÜFÛFh—

4. EF˜FFÜFa=+FYP©áFõÜF ÛF¶FW õFÑ¶FF”~ÎFUP¶FO =+»Fk ÞFñd;F*ÎFW õFùFÜF=+F ÚFæFP¶F?

5. ÚFFÞ¶FUÜFÞFñdæFF¼õÜF =e+PÛF=+PæF=+FèFõFÛÙFÎÍFW J=k+ ÒÙFÎÍFk PáF&F¶F]—

EF. PÎFÛÎFPáFP&F¶FWðF] PæFðFÜFWðF] ˜F¶FöFO ©U=+FO áFW&FÎFUÜFFO— 5×4=20

1. ÚFFÞ¶FæFðFaO

2. EWèF=+˜F=e+ÛFh

3. ÚFUÛF-ÞFEX-EFÛÙFW¼=+ÞO

4. Ò¡FF¶FÎ·FÛFh



5. EPùkõFF

6. õFÆFæFÎFF

G. PÎFÛÎFPáFP&F¶FWðF] ÒèÎFWðF] ÑF¦˜FÒèÎFFÎFFk õFÛFFÍFFÎFk =+FÜFaÛFh— 2×5=10

1. =+ÜFXO æFW¼ÜFXO ÞFñdõFÛÑFP=a+¶Fk õF[ƒ¶Fk ÒFÑÜF¶FW?

2. ÛFùFÚFFÞ¶FõÜF Þ˜FÎFF=+FÞO =+O? EF˜FFÜFa=+FYP©áÜFWÎF P=k+ PæFÞP˜F¶FÛFh?

3. ÚFFÞ¶FõÜF ¡FF¶FUÜFÍæF¡FW =+P¶F æFµFFaO õFPÎ¶F? =W+ ˜F ¶FW?

4. õæFFÛFUPæFæFW=+FÎFÎ¼õÜF Ò=_+¶Fk ÎFFÛF P=+ÛFh? PæFèFWðF¶FO =]+·F ;F¶æFF ¶FWÎF ÍFÛFaPæFðFÜF=k+ ÚFFðFµFk Ò¼¸FÛFh?

5. æFÎ¼W ÛFF¶FÞÛFh ! GP¶F õF”~U¶FõÜF ÒæF¶Fa=+O =+? P=k+ ˜F EõÛFF=k+ ¡FF¶FUÜFõF”~U¶FÛFh—

6. =+PõÛFÎFh æFðFWa =+PõÛFÎFh ÛFFõFW =+PõÛFÎFh P¼æFõFW ˜F ÚFFÞ¶FæFðFaõÜF õæFF¶FÎ·F¶FF áFÙÍFF?

7. ÚFFÞ¶FæFðFaõÜF õFæFaÒ»FÛFO ÒÍFFÎFÛFÎ·FU ¶F»FF õFæFaÒ»FÛFO ÞFñdÑFP¶FO =+O?

8. ÛFùF¶ÛFF;FFPÎÍFÎFO ÎFW¶F_¶æFW EFÜFXP¡F¶FõÜF =+õÜFFPÑF EFÎ¼XáFÎFÂÜFõÜF ÎFFÛF áFW&FÎFUÜFÛFh—



Or,

Mathematical Tradition in Sanskrit

1. ÜF»FFÛFP¶F ÒèÎFÑF¦˜F=+õÜF H¸FÞk Ò¼UÜF¶FFÛFh— 2×5=10

(a) EFÜFaÚFªÑFF¼YO PæFÞP˜F¶FFÎFFk ;FeÎ»FFÎFFk ÎFFÛFFPÎF PæFPáF&ÜFÎ¶FFÛFh—

(b) ÙFeüõ×]+©PõFÊFÎ¶FõÜF =+ JæF Þ˜FÎFF=+FáFO? EPõÛFÎFh =+P¶F EÍÜFFÜFFO õFPÎ¶F?

(c) áFUáFFæF¶FU =+õÜF ;FeÎ»FõÜF EkèFO? E·F EFáFX˜ÜFPæFðFÜFO =+O?

(d) ÑF¦˜FPõFÊFPÎ¶F=+F GP¶F ;FeÎ»FõÜF PõFÊFÎ¶FFÎFFk =+FPÎF ÎFFÛFFPÎF?

(e) ÚFFÞ¶FUÜF-¡ÜFXP¶FðF-èFFõ·FFµFFk ÚFF;FõFÛF[ùO =+O?

(f) ;FPµF¶F-èFÙ¼õÜF =+XN»FaO?

(g) PÑF»FF;FXÞFõFF˜FFÜFaõÜF HÑFÑFFÃ-P˜FÎ¶FF ÚFFÞ¶FUÜF-;FPµF¶FW =]+·FXÑFáFÚÜF¶FW?

(h) E»FæFaæFW¼FÎ¶F;Fa¶FõÜF ¡ÜFXP¶FðF-;FeÎ»FõÜF ÎFFÛF P=+ÛFh?

2. EÍFXPáFP&F¶FFÎFFk ÒèÎFFÎFFk ÛFÍÜFW ˜F¶F]µFF aÛF]¸FÞk PæFPáF&ÜF¶FFÛFh— 5×4=20

(a) ÙFeü;F]Ñ¶FõÜF Þ˜FÎFFõFÛF[ùPæFðFÜFW õFk‡FWÑFWµF EFáFX˜ÜF¶FFÛFh—

(b) ;FµFWèF-¼YæF£FF˜FFÜFaõÜF EæF¼FÎFk P=+ÛFh?



(c) ©U=+F PæFÞ˜ÜF¶FFÛFh — EFÜFaÚFªUÜFÛFh—

—

(d) ©U=+F PæFÞ˜ÜF¶FFÛFh — EÎFÎ¶F¶F¸æFÛFh—

—

(e) æFW¼F”~¡ÜFXP¶FðFPæFðFÜFW P¼;¼èFaÎFk P=e+ÜF¶FFÛFh—

-

(f) ©U=+F áFW&ÜFF — êFUÍFÞO

 —

3. ·FÜFFµFFk ÒèÎFFÎFFÛF]̧ FÞk ÒÜF˜š¶FFÛFh— 10×3=30

(a) ÛFÍÜFÜF];FW ;FPµF¶F-èFFõ·FFÎF]èFUáFÎFÛFPÍF=_+¶ÜF ÒÙFÎÍFX PæFÞ˜ÜF¶FFÛFh—

(b) ;FPµF¶FèFFõ·FW ÚFFõ=+ÞF˜FFÜFaõÜF EæF¼FÎFÛFh EFáFX˜ÜF¶FFÛFh—

-

(c) fFÎFO fFÎFÛF[áFk ˜F PæFðFÜFW ÒÙFÎÍFX PæFÞ˜ÜF¶FFÛFh—

(d) êFUÍFÞF˜FFÜFFaµFFk ;FeÎ»FFÎFFk PæFðFÜFW EFáFX˜ÜF¶FFÛFh—

(e) æFYP¼=+-;FPµF¶FÛFFPêF¶ÜF ÒÙFÎÍFX PæFÞ˜ÜF¶FFÛFh—


